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	Cercle
	Circonférence
	Rayon
	C/r

	1
	12,69
	2,02
	6,282

	2
	18,85
	3
	6,283

	3
	6,28
	1
	6,28



[image: ]





image1.jpeg
S X
O cxey=408
9 d(x-6F+y=9
9 e(x-12p+y
O E(x-15)+(y+ 5
Nombre

circonférencec = 12.69
O circonférenced = 18.85
O circonférencee = 6.28

Circonférence de d=18.85

—

o C Crondamasectize
o .

. Gircantérence de &= 6.28

1 2 Ul e

> F=(155) % t 3 i 4 T T
5 6=(15,252) - b1

@ H=(1299, 7.47) i

@ 1=(12,-1)

@ J=(6,3)

se

5 a=248

s g

o

o

K Circonférsnce de

-+

5

o

ks





